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~ RELOCATED IL RTE 3 STA 637+36.18=

CONTRACT: 76848 CONTRACT: 76E06

(IL RTE 3)

ST. CLAIR AVE

MONUMENT#7

MONUMENT#9

MONUMENT#10

MONUMENT#8

STA 619+00.00

IMPROVEMENT BEGINS

CONTRACT 76F70

STA 640+22.66

IMPROVEMENT ENDS

CONTRACT 76F70

STA 622+06.09

IMPROVEMENT BEGINS

CONTRACT 76F69

CP#121
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CP#116
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RIVER PARK DRIVE CONNECTOR STA 15+00.00

~ PR MISSOURI AVE

~ PR RIVER PARK DRIVE CONNECTOR

RELOCATED IL RTE 3

~ RELOCATED IL RTE 3 STA 621+48.21=

~ PR RELOCATED IL RTE 3

~ PR RELOCATED IL RTE 3

MISSOURI AVE

MISSOURI AVE STA 30+00.00

RIVER PARK DRIVE

MONUMENTS AND CONTROL POINTS LOCATION MAP

(ACCESS)
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IMPROVEMENT BEGINS

CONTRACT 76848

(CLEARING/GRADING/PAVING)
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IMPROVEMENT BEGINS

CONTRACT 76848

       STA 624+07.32

       STA 622+45.66 TO

       OMISSION FROM

NOTE:  CONTRACT 76F70

(PAVING)

STA 1668+15.00

IMPROVEMENT ENDS

CONTRACT 76848
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POT STA 30+00.0
0

PI STA = 11+76.99

R = 301.56’

T = 215.96’

L = 374.83’

E = 69.36’

e = 4.00%

S.E. RUN = 119’

P.C. STA = 9+61.03

P.T. STA = 13+35.86

R = 2,083.48’

T = 749.73’

E = 130.79’

L = 1,439.34’

P.T. STA = 627+40.27

P.C. STA = 613+00.92

S.E. RUN = 102’

P.T. STA = 645+79.87

P.C. STA = 637+54.80

S.E. RUN = 144’

L = 825.07’

E = 112.59’

T = 449.25’

R = 840.00’

e = 4.3%

T.R. = 36’

T.R. = 36’

e = 6.0%

T.R. = 40’

PR CURVE RVRPK-1

PR CURVE RTE3-8

PR CURVE RTE3-9

PI STA = 620+50.65

PI STA = 642+04.05
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